GRE Arithmetic Practice Test 12
Question 1

Which of the following is equal to v’ﬁ_ﬁ ﬁTi

Possible Answers:

3,/6/2

3v3

23

V3/2

3y/6

Correct answer:

3./6/2

Question 2



Simplify:

v 3430
v 493

Possible Answers:
xT

T

VER

K

/7

Tx

Correct answer:

z\/7

Question 3



Solve for :

ﬁ:4

Possible Answers:

16

1

16

Correct answer:

1
16

Question 4



Rationalize the denominator:

2

V5

Possible Answers:

V5

2

bo| en

| bo

Correct answer:

2v/5
5

Question 5



5
3/ 10
5
Correct answer:

Question 6



Simplify:

V21

V20

Possible Answers:

Correct answer:

V105
10

Question 7



Which of the following is equivalent to T 4

Possible Answers:

1
3

==

L

3
V3
Correct answer:
1

V3

Question 8



Rationalize the denominator and simplify:

VB+ V12

V6

Possible Answers:

243432
3

Lo o

& [
w

i
5

v 4 Correct answer:

24/3 4 3¢/2
3

S

Question 9



Simplify:
5 J—
6 8

Possible Answers:

o 1
48 24
v/ 105
12
44/30 34/ 56
24 24
2414 — 34/30
12
2+/30 — 34/14
12
Correct answer:
2+/30 — 314
12

Question 10



Simplify:

142
1-+v2

Possible Answers:

—3-2,2
~5¢/2
3+2¢/2
—3+2/2
—v/2

Correct answer:

32,2



